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tlim, Y turns lefl and gocs 20m, then he tums nght and pogs 3 e den nans
nght again and comes back o the road on winch he had staned walking ITX and
walk with the same spocd, what s the distance between them mow™ {mom |
XY ew catiagprioe gty St o0 B condor® de Buds Db S0l sobaidked;

A o 2000 G, Y DERG fed o B S50, adan il Lo Aed 10 B 28000
i 2ol ers o, wiity o iouch D8 08 R it St N Y e sl dedi il
G oeSe Bugh, Bnhe o 1 (B

Froptipnl \Vat il Do S e PR SRET A B e M0 Al PG g VY o0,
T T Gl Ly A7 e e A B e B
S S R e P s e b it i B B AR e it Ep T men M S

e el el Wae K

(A) 20 i3y 30 (") Ao (3 40
48} (f January 1%, 2013 1 falling on Tecsdas, what das of the week Galls on Ogtober
o, 20157
| B0, P13 doriaonds sad, 10 ebSob 201 D Hle wnut
(A Thursday . risisosss (B Frday /s
Tucsday - S i aturday | e
B UTOE L St T R S SRy S TN R
iy DY A ! T\

49} O what dates of November, 2006 Frday will 1 alling™
""‘.r-umumg:r-.ﬂam.r_.bw Avtonno i Ba i ae oY
i".r TP S T -"'__,_q__,___ Sl M L
(Al B, |50, 22 i A0y 3 e )T e
o, 1= 19, (Fy 4% (1", 1B 2%
503 At what angle the hands of a clich ase mchned a1 15 imnatgs pasi §°
5 Pl 15 DEudpetls ddaiekeSs S Sog ), Bires oy
P S S T ] g |"-.-"’l|5"-

i" i ait
'ME H) 8, i) 6l LLINES:
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Senathi kine is o full

S1) Pomnng o a photograph, Bran sad, “FHe s the son of the only daughter of the

52)

53

M)

father of vy brother™ Fhow Kiraw s 1 Lated 1o the man i the photograph”

(AL Ssephew i Mateinal Upcle

(C} Father (1} Brother

£ S0 nd v A o Dichue Jlad) Tk Soe 5SS Aol adid, s Deann RSN
L 3 : - [} e —

Ao e o o A4 e ¥

(A) dadepetn = (1] &adindy
C) #od (D) Momas
-IE-;#.,..‘!E:I;TE;.Q.EeliviftéilJTr;d"-l!h,-:':-q..E:L.rf-"_-:--—-i"-""t'l"-;'&rr
fu.ﬁ.:.-t.ﬂrf.ll:tr
du 1 -« 1 JrU uiBh Wi (A

AZP meand A s the mothee of I

AAP means A i3 the baother of P

AUE means A s the bushand of P

ASP means A s the daaghtes of P

Which of the followimg means that K s the maother-m-tw of M

AdP eodl A, Podut, ap
AT ol AL P oo, DS

b P A e A
AP meol] A P atiod, 5t ' ki

ASP wot! A, P alos, e i P S RAL B A
Bot ol Do B M atud, ma e amanea | ERRIRL RNl
e e TP A AP
fe K eI MI R L et s
G‘S KSIOMIN (B K3JuNAM ) MONSKY () M9N3KA]
The last day of the contury canmot be
Sngip OB Glar boo oad Doy st}
(A} Monday S fumo (1) Wednesday st
(C) Tuesday / Suorioes: (D) Friday | darimsics
.ﬂ: .rr,r.f itid PO
) S AAr (B) 5 Al
Three pasitions of the dice are shawn below
qu:mm ?ﬁi#@:éixgﬁh{;a”
1"{.lI 3 é"' s ‘-LA'I:-"

l-."'

Find ll:i'l: numt'u:r nF dots on hu: face apposite the face beating 3 duts

A ﬁﬂﬂ:ﬁ!ﬁ! (2 SRR o L ey ot ay SR

= "'n WS E e i S L S
(A} 4 LI (w2 % o




55)

Sb)

£7)

www.eenadupratibha.net

In the following series Tind the teom o place of =

Ao et .:.g_a:.a:uﬂ"n - LA

v fas g tednil T E Sl hr Ly g il
RN FIE S, HI, 2
A) 1GY WGy (W G ity 1GY
Find the numbser that comes m the place of ™

faoty Arde® "y o 2nd D, DT

160 135, 4 ol b fralnil 1 LSS dr L) il
Y

-
I ! I

(A 17 (i 2 Wy 23 AL

Foun positsons of the dice me shown below & £
= £ r
sy polizied G et Aeandon ol e S
_.F ik J.\.
i '-\.. a o 4 I_
i § T ¥ | B |

e umber opposite o 3 s
AR ST ) Wl Y ™
Wi f Lar ATG ST e iVl il

(A 4 il 2 iy 1 i o

M s the Gather of % whio s the sonad V' I sader wo ihe eelatsan of Moo P, shich of

the Statemiend - SEMcEr s 15 B Agoysaan

(A Pt husbhand of £)

() The douphier of 5 0 the promd daughier of M

() The daughier of ™ s the grand danghier of v

i Pous the brothes o v

M, N s, Aol uend N,V nde g M, 1A 2w, s abaieeot] oseeddt

2 Andgees @data

(AX T 1) Ao, o (1) N oo, detoc, M 8 doddom

C) Mol deod Vated, Susdoses (1) 1LV cilog, 26 odada
Moarvoppe hih gy P EIME 75 P BV i AR TEM
Ferdiived i st

.qu"" I‘-lil'r 1] at -.:' :J'I _'"'4'15, 48

1]
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Sepalive marking is {bere, iy ee garefilly
Veena who i the sester-m-law of Mueals, 15 the davglacr-melaw of Bhavam Kansesh
i the father of Hemanth whe s the ondy beother of Murale How hasan s eelaod
by Marah®
D, sace ol e fenden, sunazo cand atuf, Moey S Dadiud st mod et
anduoul Sdm il ol Lo RS mod fad i Ddegmoan T
[AY Wile !/ eod, I Aunt e
() Mother-pi-law  ea 1) Mot i
P TP R SO L RN L T PRI Y T e PR e T B A
L e ]
Wit Al ok UL Je il EETI Y

A watch which pains 5 seconds i 5 iantes was sel opht st 7 a e In the Afieimon
of the smme day, when the wasch mdicoted quaner past 1 CFclock, the woe tme w

1 b
iA) "ﬁmm past 4 P16 HI‘ mim pasl 3
(Cr dpm i) "'“-I"l-mm past 3

un:-.nmm“,ﬁmhﬁ.ndnﬁmq S T Ol SRR AT 1SR
S o Bl duge e o ridaimeto & ke 14 Sdee Aaberin g Silal et

AT

1 -
(A} adn -"-ﬁ.:l T RELT """u b
i) ara N sy 3 a

f |
e L TN R B 'r" L rd e T s Vs :-F,;i s

.I'rf-'.n:---,',!..-'r__:l=_-.-n.-"-l...-.‘.-p
MKy T

T
LTI ST a0

A clock 13 se1 1o show corect tme at 7 ams Mombas The éhock hoses 15 mnuics in

24 hours What will Ise the trug tang when the clock mdicaes 6 am on the Followng

Friday™®

£ rilevimrien B Euaaark b Aodeil Do Ddondo Gl @ Alaieto S8

A kol § 5 DEloape b"'-l':’"#.:q.'ﬂ Prehasast Alonect s dahi T o rade s © Pt L Sl

Simlel man i A1 LR0IN ke
{A)Y G 1S am Frday  Avtosto PEy 6 30 am Prslay st
(€ 7 am Foday * aitasta (0 T 15 am Frday  rss)
#'L"‘h}ﬁ—{]“r'i-ﬂ'*ﬂh_ﬂuﬁf.‘ﬁj -:"“-’r:-l‘ri“—""f-t-r'fli.;-._ll.}ﬂ,.f.} 1."___,__.
Pl Fome Lot g
oW ot UL el e T 0l A
ot il g A ET i T 2 R o
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1€ "E E
N

(T Figg v ok il
62) “I'i-'“‘-’“ the value of P Q="
I
e d Bigd Al ' ~— fig 28 ﬂ'+¢ -
- T - - - =5 ' z - P a -
o !er.,-un.wﬂ *,_-.,::.JJM shifpy 34!

(A) § T W7 1 TR

ﬁJ} r-'-—..hr- e g

] i e S

e |

'hl'll-l-lh':‘i ‘jllﬂ '|.E “
(A 10 © m Wy 8 (6

64)  The averape worpht of thaee lsns A, Band O s -H'.l" kit whibe the average 'l'l-ﬁE]“ of
theee boys 13, [2and s 53 kg What 1s the average weighi of AJB, C, 1 and 17
im kg)
AR fopatn 7 e i sdig *4 y B 1, I} suong B o drew oty o0 8 ir maud A,
i, C. 1) avoniul: nmusdmmn*['r-ﬂ}
AR DR e S ik W, DL AT e 1 842 S irkFCaniA B
tf,rl;.'-r:“.i..nfﬁ
(A) 324
iy 532
) 83K
(1 1uta o adequate  Samassdo afidonoade
65)  The average salory of all the sonkeas in awockslwp s Be KOG The average salary
of 7 techmicians 1 Ra 12,000 amd the averape salary of the rest s Rs 6,000 Ty
tonal mumber of workers i the workshop is
L ey S e g B A 000 ol t!é!.ru:&i o do de 32,000
2uenat Bl ov ot ding e 000w, oSS0 G Julo 30 ok, o
Liadphente s 2ed v S e ao00ad Lot bt Snd

Fetlod i bt 2 W sind .o b sbooond bnd
[A) M . 23 [ 22 (i 2

bh)  Hammaome Mean of 00 el 600 s .ﬂ’:ﬁm

A0 St Gl er Sered St Sk L

B K L bt D
(A) S0 u-rf'.':'lﬂ T it 42
&7) M ';;‘.,' =randy |l dheny s
li- i
.,.".H“— moatnt 11 eacd § S JusT ix-2y &

'ﬂF.firllll;IIJ‘.‘zlb ﬁ-"'

\{;: (gt W 23 i) 35

9313 (5e1 - F) 14

14
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Negative marking is there, snswer Carefially
Fiod tlee sabue of & of the toots of the guaslians cquatom S 126 0 8 Dae poied
and equal
O - A k(e aduriratitels S D0 e 11 skt me el b Dend
w7 -
ST S TS TP JP'] SRR b IR
2 iy 2 oy 3 i
1 pumps working £ hours a day, can cmpty a tank i 2 davs Hlow many howrs a day
st 4 s work 10 cnpiy the tank m | dan?
3 Bogpen G A Mot o il O nl e onal o G e Sl el i
Hlerd ) riobaen B8 X e Bheret @ e ofsh gud Metirtey ?
i"'-f-h Sl B fondiael Sis 2o i..lr-..h:-.-!'h_J"i.I:- .'rrfnﬂ'ﬂdrhnriﬂ
3+ '&'&:ﬁ = A Gl ?fnrfri'éf'éff.;.{q

(A} 9 (10 W M1 12

Aand 1 can do a prece of worh m S davs, 1and © o do ot o 7 days, Sdand O can

ot 4 days Whan s the e raguiresd bor Ato complote the sk Dworks sl

i davs)

""I. dooat B e gl 200 & Shoet 1 2ooosa U oo md 20 7 el A svoata e ad
& e Jimes "‘w‘n.'i‘u"i:ﬂb oS00 A e m-.”r.g Erhangd e Doty ()

ﬂlilrr‘r.flf_”l.ﬂn -,,.E-ﬂ—;‘. |_.r--|_.- 'rﬂ;ti”“ir i--I..fr .rT‘iﬂf-I.- -.i—'ln'ﬁ"'r".-"' LR
_..,L.r‘...-l"..-l;..':iu..l:-'_-ar..- "",I-l’l--.-l'..-"'—l.p:'l-—-'rl..-b;ﬂ'-

IED e H/.!‘:-ﬂl %1
A} 1 B <55 . A i3

A tap can Gl a tank i 6 s Adier halfihe ook s Tilled. theee more ssmlar laps
are apened Whan s the total nase 1aken o Tl the 1ank completely™ (im hours)

£ Rem £ £BORD 5 Ploe Doty Tk o Dl Aduma, mem ol S0 suncy
Repen BADogaL o et Dadenh Sl Jus Lot Lo T Pkl ]

;'u:.*'?# rJ;J'I-.?'-ﬂLJI'J'HL-rEJr""-".' I-'.-"-.-:'-"F.r"'F"_I--‘:—i'“I'"I'
Ui lm Wi s Ll A B2 J 00

3 i I
is o =
(A) 4 ryn/", ) 35

A car 15 punning at a speed 108 kniph What dastance will it coverin 15 secomds™ (i

AeCicTs)

et o1 of Al jrion Seiod Boadedinon @ ede 15 Atoge® o Dot et Dadaoo

Aty ¥ 2 R el
5 -0 T PSR - EE N TV P BRSPS A o FT R e

%) 150 () 48 ) 38 () 0

4
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Begative marking is there, agswer carefully

When the distance between a policeman and a thef 1 150 meters, the peliceman
starts chasunig the thiel The pelceman rans at a speed off 18 'see and catches the
thicf after 25 seconds. What was the speed of the thief™ (in m sec )
e Ml SR EpEFAcADA S6FA Tuod o g, Bndio 140 dsy Sl 1a By
seod® DA EPon 25 Lo Bl Lahab o] EPor o drofl mn:m,mﬂ
WL A e iR iyt e k10 LA d ot A
el e DTt il il dova ]
EYEE T Wy 20 WP ™
A bt takies W munutes bess 1o travel 1o imiles downstrean than to twavel the same

& distance upstream 1 the speed of the buat m shill wates 15 15 aules per lour, thy

T5)

)

7

speed of the stream is  (1m onles prer o |
L8 DD 3% foff drmenef® Dandand Devore M Suaio, Soaanl Sedes M SRuaiu
] 0 Dxfndieens oS Dedats Dl BedeS Dt 10 oty oty Bl usie 3
o 7 o fristaet )

psfb o e dbierw gl e s LE. Jire l S S . iy

(2K S S aF B.dneigd e I 10005 2

(A) 3 (B} 25 (oy=2 LHE
A man bormows Bs 2,550 to be pand back with compound inkerest an the rase of 4%

pet anmum by the end of 2 years i bwo equal vesly mstabments Flow much will
each matabment be™ (i Rupecs)
L R u-:-!-.:-eimmai Sl oo auds et oy e
i Tmowced Oodd n sty ok e %Hﬂh&h‘:dﬂ]

= it .r_.l.uh..rr‘.l T .|.'ff o e T o i L Aavbas e b v v * L0

T o TS P P

(A} 1377 i) J23s Wy 283 iy 1342
IF twer dice are theewn sivullaneatsby, what 5 the peobability of the sum aof the duts
i b seven”?
Aoy Beciiety ellimo Slinaaod, dodis Sotle Makio ¢ mBoah S Sughd @ ot

'FHPFTJJI'UJHI-T.--;.':I-F:JFJH'..-'l..--i':..-..-'l.-f.l"..-;!_u
VR Wy I # it Y

IF the lemgth of a conam rectangle i decreased by 4 e and the width 1 iscreased
by 3 ¢m, a squane with the same area as the onginal rectangle would result o the
penimeter af the orgmal rectanghe (0 cm)
£t By eiaction eulaoel, Swcidnd 4 Za B o, Do 2 B Sk, e L
Mwmwmj&mm rriodh, e o St
el Dot T [ Duset )

8 P B S Ot PR e 2 TP PR ION o P I P TN A

A LRIV e B e L I RO O

(A} 40 3y 50 (T i 3o

i
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Negatine marking is there, anve er carefully

What 15 the radus (u e of a wheel which covers a distance of 68 2 mon 3|
revislutons™
L -g:u.um:-ﬁmgumguﬁnﬂmxﬂucﬁmm e o { s LR

_____ THARS e Se ipma 2 ann e S dd g
[A) 2R () 1% iy 42 i 49 "
A person’s present age 1s two-fifth of the age of s mother Afien 8 years, he will be
one-half of the ape of Tas mother Tow alid s the mother m present (m yoars)
ruf ) ko, m:ﬁmﬁt_imﬂ-_ﬂg:*tw;' Fat o L xh‘ﬂulnﬂ-ﬁ-ﬂuﬂﬁlMﬁM
il A S Gl Bk 849 -:l-tgnra.um.-n*

PR R N S T T fute df £

. m i ag pue Jond o
(A} 48/, l-rﬁ' My, TR () 36 "

2% =64, thes
"'-f-i_,mﬂ ;:;uhrulnn i P s fF s

(A} 6 12 iy 4 THE.

L] (]

In :hr:lm'n Ehlﬂ!llc AR, AL s bisector of ZBAC IBE Aam LT om and
AC =7 5 ¢mi, then Find AH [ cmd
g Beteo A e AL, ﬂIMI'rﬂ;ﬁ*ﬂnmwﬁah Bl - daob LU 3ol
Sepatn AL - 75 Do b mesd, AR 2 faatran (e bt

B BT NS T b B N e 1 UL i ALt 28 JonT

Mfne Jrafal

(A} 10 hy % i) & (12

0 / g —
In the above figure, AR and DE are parallel 1E ZBAD = 1IF and ADEC - MY _then
find Z£DE
b dsiod® Al DE e admond B ZBAD - 1107 supaty £DEC =307 gand LIKE

i P £DEC W 0 2 BAD #1105 a L Bt i aBL 2 P ULl s
!_”.I'r...-i' SR g
(A} TO° 3y s i) 60" {by 507

It
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v singlia) ful
A and 13 invested caprials in the ratio, 4 7 1o start 3 busencss A s the working
panner and managing the business Whot percentage of tee total profin may be given
a5 salary 1o A, so that thewr imcomes 3t the end of the year are equal”®

A, Beoa 7 Sondt fused@duets ool sl on Jefiin edosum TA ol Jena

Red b pide e Gnds, 0SS0t 0 Suko et dodk wmd A8 doore

g, SO B S0 Sman T
-FJFJFIFEJE-I:;Jfﬁb:l.f.ﬂﬁ_l_,_!-r_ff:.__rrg.“.il:id'T._,E,H.p,f.,{lﬂ,!lﬂ.
‘{?ﬂ-dhjiriﬂiﬂhuﬂﬁvfl-'"-'!'{-'l"-n"-‘u'f.-‘l.‘-'g.fhcu.;._.'I'#{."'J-nf:dl.-

R N T

(A) 2% By 21ig ¢y Nis By 20
) l: :I = 5 | ' = T (Ldy 9
5 T d iy
A, B and C enter into a parinershap in the mato of 5 % At the end of the year they

carned a profit of Rs 36 X0 What was the peofit of 'O (in Ks )

-

8 ] "I
A B U, e e, s deditingd L il Dbt Delor Sdeve i

anoll dlm 35,200 englin 35, o enghe® (7 i, deam Jon Y {8 )
T 4 B
?r;hm&l’i{{#.‘:dhﬁ,“ﬂLﬁ,.fﬁfE 2"y 5_..-!-1.:..J'I;,__.-EI:J|=..I..IZ'I-

(L mr T o fC S rd sl

(A} E.000 (E) 21,000 i T.olnl [1}) 7,600
The price of 12 pens od ogqual to the prce of B scales  The poce of 4 scales 15 ¢qual
to the price of 10 pescils, price of 3 pencils 15 equal 1o 15 crasers 1F prace of 10
crasers 15 oqual to Rs 200 what 1s the price of a pen” (in Kupees)
1 Do o, o Al Do Dsedh 4 :Jﬂr.::hn. b Sulf, el i 2 gl e 1) St
el St 0 e o e 20 o Mihﬁlﬁldiﬁhﬂh&?{dv-ﬂ'}

adfe s e s i ad SN madF g Bl add S raad S

e adda i ek nied Foabiog fos

(Ay 10 iy (i) X (fh 12

In the above figure ifx v = 3_4 5. then lind w
pabdotr v o2=3 45 ecud w Deod Stolrsd

—l-'rr.l"'ljl_fw;'..r! LI !-,l'.l.,,f_.-ﬂl.'}::.-u
(A) RO° (y T T o I i 64

i
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o Skl ul
A started a business by investing Bs 50,0000 ARer siv months, 18 pangd the bisincss
with a capial of Ks 80,000, A1 the end of the vear, they camned a profit of
Ry 27000 What was B's share in the profie” (n Hs )
dn Seetnn Dennddd A Ll e deoa Dedudodis, e Joo Adiees T de aenen
skl erintore 380 LOToRBR ot 500 eei doe 27000 goud, sotie’
B rlud, amam ot

fﬁ_;f;r_,,nmjjq...ﬂ Sttt S0 e -1-,.1"-'-.';--“53'-“’“!-!"3'-* 1A

AT B S H G BV et e M Lo et nd )

(A 15,000 I 20003 () 1RO0K (0 13,5040

A student multipleed a numbser by msﬂ::d of = :

3 What is the percentage of ermor in
the calculation®

A .I
Mmﬂwﬁm@lﬂ:m- —uimdu._-.a:? mf‘gffﬂ-{ﬁ_*ﬂ;du M;
.Jﬂ:}#y.ﬂ’ihﬁ,’.uuﬂ,ﬁf;_.th,f;_li,,__,...-J J.f‘-"""""'ﬁ
(A) M% (B 44% (LY 4%, I 6%

/ AC,

L1 |

i

In the above Nigure [ and I, are parallel hines. Find v

pasdindt | [ e Adlosond dgaen 1 Dend AP
T STV T AT T T WY PP T 18 TS

(A} 157 ) 4% (Cy 3 (1) e

Inabove figure, A and CD are imersectng at O and LBOL = 407 Find x
b D’ AB fuontu (1) e O 646 polodoiiedond LBOC = 3" mownd 1 Dod
aro

Mntle cvifn it & H'.'--II:II‘__.-r;.if.,,'f’,;n..ﬂ-:iPL".I:IHI.AI].,.:_."‘G,:,.:'_-.H

Ay W° IR iy 30 iy 20
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Nepali Sisie b5 0 fult
The sum of the ages of a father and lus son s 35 years Frve years ago, the produci
of thewr ages was 350 What s the prescuat age of the sen™ (in vears)

e B Sooat Dafoehl Sovlaam Soddos bl Rolomn T Do ML, D Sl
:u,gan ELTHE SELL U B A mmﬂw;

n.fnJ’fu.i'-.h_.:a:.:r..-rasu._."*-.-r;gr.,-:.-..’-,.;,,m.,; Jo3ta A0S )

(A) 15 TR Wy 12 (D) 13

The perimeters of two squares are 40 cm and 32 cm Find the perimeter of a third

square whose arca 1s equal o the diference of the arcas of the two squares, {in cm)

Sods Stz Gy bteda 40 30 L dunals 42 Ho by 0 Bods Sdudipe pavedun

Beiontals D B, it Saega SR o, dsukved Dol T (o Loeh)
e J o S e Wl T R T N R TR i 3 A s

Turaﬁrrjfdil.-.i-_-.g.uﬂﬂf
(A) 24 (i 30 {C) 6 (13 18
ALLST.92 1M andd (5, r 1, 13, 15 What 1s the valuc of A7

A L2170 1) seatull - }:,,HIJ 151 mocsdh Al oa?
B 1T 0 N 4 ﬁf‘-“?.ﬂll-u UL AM I3 e iA=L 2.5 7.9, 11]
(AY {12579 8,13 15) 3 {129
(5.7 110 IR L]

If 4 persons are invated for a pany, find the sumber of ways i which they can be
seated around a table along wath the host?

Aenridy S e e A addDoospond, o a0l LO0 5 A58 S0 e rbogd
Elouel Gbum & dmsenem ARG 7

hﬂ)’;—lh--.l‘m;' I R TP LIS S TR N TTPNT Tor A o TR S T
4 24

() 120 iy %% (1) 30

What 15 the ratio between Arithmatic Mean and Median of the Tollowing data®
Aot Conoail, Sosand St fuonTn fud, el o Do Saman

1!]1_5 :IH_ !.'1 % 'l'_‘ Tfﬁ#ﬁ.{%":rf’qukf‘!l'ld W ai

(A) 372 (1) 43 m: (125

96) If a boat goes T km ugrstresin in A2 nunnics and the speed of the stream is 3 kinph,

then the speed of the boat i sull water is  {in ki hr)
e Bk DERIADA acboclem 7 Ao dnoeg 42 DRt SOABAOD Desdng Bk 0 8k
fiot sand Dgofnd St Dda o Do T (M robdt)
e FIRIVI oW ii o YL £ s 20 Frawe S0g £ S 2 oD
1l .'Idﬁ-ll..rrfrﬂ.drfj.h.ﬁh

M 1 iy 9 iy 2 () 42

"
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Walking at 4072 more than the wsual spacd Bamana reaches s oflice six numutes
early Find his usual tane to scach s ollice {in smutes §
memdia defo odf ans o Iefolf Stun ean aduurh f S S Al
e adiigy Saundd D Segsin Sdnto Sul? [ DZedet)
-JHEHJﬂJJJFJ*JJJ':"l;‘E lﬁ--&;ﬂi‘ﬂlr._.-jrﬁ-'..-i_ .-r:-; e ..-.:i..l_:l.-.'-l-l.l"l'.i'-.i-'.ri 2T,
b2 )
LAY 4 B 2 i’y 21 () 24

Two papes A and 1 can Gl 2 1ank m 57 l e el 35 moaubes respoctively Hhoth
pipes are opened  The tank wall be AIK a0 st ball an houe, of the pape 15 15 turned
off after  (in imnutes)

Bos jigen A ooats B e o8 nofi Srivie 171 Dodenl, 19 2o Bodred
Moy Dxodperiy Mito uOfun ot 10 e Dt 1B £ 9 S Achad
ol Jatep?

' 3 . I
Pl e il g en T 2o A o ae e M A L e Ay e
R T TR Ty fogie Ao Sae ronale t o

(Al § (B 1o @ iy 15

Nand Y can doa work s 18 and 10 davs respecinely They warked for 3 day s after
which X was replaced by /U the work was fumshed i ihe mest 4 days, find the
Aumber of daxs o whach £ alone gonld do e work (i dayvs)

A Y 0 e SO0 Bettm v 1o it Jotirtords onegan 1 lmen s 0 M o
X oceorm £ e 340 st 2 et duso St a8 Ao 200 L
Elergd smo Soivieds 7
L P TP T R S e g
W S0P B et e S SV et perla Enl
(A} A0 i 35 iy il 2%
2 men and 7 bows can do a piece of work i 14 days, 3 men and K bovs can do the

same m 11 days & men and & boy s can do theee imes the amount of ths work i
how many days?

7 e, 7 rbdy et 8 SUT 14 SRt 3 pelaien Joontn 8 Sl epeadh ad 2nn
1 I!l'jlf ﬂﬂ#‘l‘.l'lﬂ-ni\ A 08 Rrepen Sofwiiis o mi?;m;m._ﬂmg.au.i.agﬂhi
S0l o Sherd e Aoty

S R L I WP g1 A 5 R e i St i

L sl L L LSV 5 il ek o Phaiis o

(A) 18 iH 21 Wy 24 im 27
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Negatd a1 full
101 T 40 s divaded o iwa pants sech that their product 15 egqual 1o 319, then the
smaller past 15 '

S 10 LS 20D dols Sughenne So0po0d st O o, o ?
e AT b S AT L i
(A 9 n.u.r"il iy 19 {m 21

102) Thessmmol 0+ 4+ %+ 16 - 2% 0 36 v 100 s gl 8o [ Sam of the squarcs of
ferst 1O natural muamshers)

rd+9elh+25+36 * T, { Qe R Aao o0 Dettiooes 2wk wXony
A P

Te e SA8 o bz 1 #4490 06+ 2593604100
(A} 360 () 365 Ny as (1 390

183) The average age of a hushand and hs wife was 25 years af the tone of ther marnage
After five years with thew thrce years old chuld, 1he average age of the famly now
15 {myears)

8 e, e DL DOINL) ded Dasdnaun aefagpds 24 ST ) i e
sinf) Tumn s Readiiome emsulsd PDS aaans e, Rl Si | diont)
bz d ek tesbinm Jodpud Wotstvndifwoms # L1500 L git
I
(A 20 (B 21 [y 2 (23

104) The average age of 35 stadents o a class s 16 years. The average ape of 21 sludems
15 14 What s the averape age of remaming smdents™ {im vears)

£ BAfAin BEMH"EEMMIHLE%MW H!hﬂmd%ﬁlmm%
b4 o SoADS eme ey Betily DoB T (ol )
sl TR 7 n e 1 e P T 2 Jl 1 i 8 2 r e
19 (8 1% Wy I (IHE

105} The price of 11 chairs 15 equal to that ol 4 ables The price of 15 chars and 2 tables
topether s Ry 4000 The total price of 12 chaars and 3 tables 15 (i Rx )

b die Do 4 K, ot Damdoy 15 Sifien Sutaty ¢ ey e e 4 ooo saud, L
Sfrn oooiy 3 Sl Se Dol 7 (et
v N1 g vapnad LS M L oue S5g oe L S ad Sum S
i ad S v

(Al 3500 i) 3750 i1 IR0 (i 3900



www.eenadupratibha.net

Sepative marking is thcoe, answ er carciully

b 1
106} [ 3x - 3y = 5 and e =3 then wha 1 the valwe » 17

N+

i &
Ir=5p= 5 foondy — =T mowd T - § Orosddust 5
&K [ I - t 5
--I..'I.l"|'|=|,.-'.-"..§‘i T T i IR

3 TR W4 =N

107) 1 Y3 = 4,899 the value of [

V1424 899 mood, (B J:u.:-.'ﬁ.:-mf 3 . A
V3 BT P ;i J1a = 4899 Ji
(A} 03544 (B) 1333 Wy 1633 (1 2 60h

108) The average monthly mcome of Pand Q) as Ry 5050 Phe average moathly iscome
of Q and B 13 Ks 6,230 and the averapge monthly mcomse of I* and 8 s Hs 3 200
The monthly income of Pis fin Hs )
P, Q eavin Ao dadods A080, oonds (), el e dddn ds s osnauenta |’ Ke
St Ao B2 tw. 5,200 o 1 ol e itk od 7 (Badeniet )
BT b st TR Pt 2 162500 2 b P R o e oS00} T i SP Q

Ard JaTapdPied .o s

(A) 4000 T 4050 (] SRl (1) SO0
109) What is the 40 1enm of the progression 3, 7, 11, 13,
3.0, B A 2050 St S
N PR s I N T}
(A) 153 () 155 W) 187 w7 150
L0} What i1s the Geometnc Mean of § and 1287 g
8 gosodo 128 o v B, 000 Do 7
K e e g 2 R C12 11
(B 36 (L o (1¥ Xn
i |
! e
1M Simplify anfgiootonn | f & —
o
1o !
k!
I3 5 | ol
(A 5% L vy \w’f‘r}h 1L

132) Sum of four consecutive natwral numbers 12 34 What s the difference belween tie
squares of the first and last mumbers®

merD) I S Laiu-.q Bndd. o Lom e dme Sl oon
x5 ”J;ﬂ'u:d'fi*ddf'#'-:;l-l.;l.u-i..'.i-‘ln.-'.r!i'.rf..ul..!’.;"' !I'
(A) 69 By 73 iw) %l 1 &7

12
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— — l
113) The sum of the squares of three consecutive natwal numbers is 2030 What 15 the
mudidle mamber®
Tl et Adsen Saagye S Duofdon Mo o udl, Dok, oY
Tl e dir o8 7 e 20000 A0S L miiip
(A) 25 (B 26 <y 27 (1) 28
114} 36 men can complete a prece of work in 18 days |n how many days will 27 nwen
complete the same work?
36 S iptions e 200 18 Shand g A @8 200 27 208 v o Fed {0

S’ Tﬂ;{ff“tﬂrfrljlt?frl’ﬁu ;.'L.-ﬂ.lﬂ.f.u.-llfrl’.{h'j'ﬁ
(A) 1% {m) 20 v 2 (1) 26

115} 400 persons working % howrs per day compleic 1%k the work o 10 days The
mumber of addibonal persons, working 8 hours pir day, required 1o complete the
remammng work in 20 days?

400 2000 ytlaen herly 9 ol SO0 8D Y a'.'mmna:n 1 Ehaet® G Goulriedy

06 2000 BC B, Kol S0 Flart 4 tube Do & £ADD 4% 20 el ipg
-.!Inm-d.w-' |
Tiae Bpfidii g L S panoaws l.-'l.,-._.:-»'_frl'aﬂ"'i T3 e g dratny

fJﬂfﬂ#J;l_ﬂﬂﬁf_II.'an..,.in"_.-'rJ"._l:._.l.l':d.r.l".rl' -'."_..-'r-"I'H-B
(A) 273 iB) G673 (C) 250 (3 225

116) A and 13 can do a job topether i 7 davs A s | ! yimes as efficient as B The saine
Job can be done by A alone i {in davs)
A funato 13 e 200 e 500 ¢ Sleed e dadeieds A, B o 12 By slalorm 32
Sanieds & doto 03 4 4w Bl amg dareds? .
W AP e O b F aTs -r. N T T T R ol TN T o i TIPS
| ¥ .-"._.I-""._.-I:.,,,J._
| ™ Vo =
Y "ii (B 1l 'y I-4 (1 h‘-'-1|

117} Two pipes A and "B’ can fill a tank m 15 hours and 20 houts respectively Whike a
thard pape “C" can empty the Full tank m 25 hours. All the theee pipes afe opened m
the begining After 10 hours “C' s closed In how much e, will the tank be full®
{ o Buiduers )

Bodh paen A Booain B e ms an el seinm 14, 20 riowed Dudviedy fwitag O
25 ok Dods 1m 080 el Saldech umd Doiped Aode? 350 D4 oo Sdmd
' jn dunhdiies o B v anom GRorm Dodateu T (Hots)
L A I ot L CE N i S AT YA
IR N A T IR TR g R GRS I i G W e ST
£ 2 i 1 e sl
A I8 (B I (wy I3 iy 12

13
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Negat] i iy i ull
118} The rano between the speeds of two trans 5 7 8 I the second tram s 400 kmis
m A hours, then the speed of the first train s {in kmph)

Buc P Sme D40 ¢ 0 DS gen & foned 400 M Soinell Aue o il e

et ? {880 rrlodana)
J.i!;*f.i‘g.;!fq!.q_ﬂ'uﬁrlkﬂfﬁ ird-l:ﬂu[.’J;nﬁ..{_T:H...ﬂff.-ﬂ bl K
1ll.!“.l"'..\""-'l ;E -'h"-l..t iirnl

(AY 75 (i) &4 )y 875 ([¥) "W

119) A wan travelling a1 a speed of 72 kmph cnters a tunnel 4 km long The rram s %Lm
long, how long docs i take for the tram te pass throwgh the wnncl? (in ;;:mm]s.p

m&r:m;m@@ﬂmqﬁﬁﬁmmmwm Adss

saud m oo LA OO D08 Do DEAODT {uoge)

— :.JHJ-.:.: Povige MBSt o e 2 Y5 K w2, o F e T
e 0 T |fl|_|_‘|l.¥lf-,.-_! I I'L;"'rr"rl N

(A) 250 (By 175 ﬂfl"f;ﬂﬂ (i) 225

120} Find the rateo in whach nce 3t Bs 7 20 a kg be mived with nee a1t Ks 5 70 a kg
produce a mixture worth Rs 6 30 a kg

e 720 f e Sodef) de 8 7o/8 e 2asol O DO SILA Do Enln Da
s 5 30/ e mastoon ¥
bt ad il 52 8 iy S B de 150 wJipr SEIs 10
-l.r-i.lrr:fl..i'.pl.;:!

(A} 13 (B 21 iy 34 iy 43

121) The cost of Type | rice 1s Rs 13 per kg and Tvpe 2 nce 1s Rs. 20 per kg I bath
Type 1'and Type 2 arc mixed en the rano of 2 3, then the price per kg of the mixed
vanety nce 15 - [in Rupees)

£ 1 ealyo Bo de 158 p oot B 2 cano 2o de 2o/Ame g 3o Sale e
20 2504 400 Bou 2ol o dlus e ks 8 rpal o8 7 (dadente)

J-lll.lii.-":.-rr..:I_:Jm'rfp‘..j-.:.[.,rd;kllfr..g.*.-.I#IJ*IJ.;.EJ‘._JpIrI.r-'r

Tq.lr-'f-‘-'.'r’-"""rl;’rl.fr.]ri-r"-'-m-uﬂ?r'..hrhu::...*-nf"u": 32

(Al 1950 (m) 18 50 () 18 i 19
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Nepati sing ix il answer carefully
122) The linary equivalent of the decunal number 125 15

wailﬁ et Mn;mmm S
T rpid s W 250 s

(A 111 () 1100000 () 1 (B P10 o
123) Une sade of a rectangular field s 15 moand one of s doagonals is 17 m Find the
arca of the field” (i m*)

m@w;gmmusﬁumf_himsummﬁ.m“mmuiﬂm
el e 2 BauiPnga (fu'es) . "

{u,lfiﬂ'#,ri-fﬂﬁ.ﬁ,i‘fgl.i;}:|1};r,_.r-,.i)£|5¢*,,_§.fhl!‘="
(A) 100 (B) 130 ) 120 () 150

114} Find the ratio of volumes of two cubmds whose length, breadths and heyehts are in
theranoof 3 7, 14 11 and 22 * 9 respectively

ndgpey. Dobasn Fuonls S oo 17, 14 L1 Seondn 22 0 DOt e Bods A
SDDELAE JOS e Dl Qo 7

FELI L R I I T g I.Tl'i:"lillr': |.JHJL:.¢IJ‘H|.;'|;..I.-F?FI|' J"‘"..-..-:'L.,,{..:.-Iil"'j.,..;ur
i
Ay 5.3 B 7 6 iy & 5 (I 4 3

125) A shopkecper sclls an amicle for Bs 840 and pamns 20% AL what price should he
sell the article to gain 30PS7 (in Rs )

el Aot et EaEnD dm H405 @iy P0% g vl 0N engs et Z W]
SR0R o S0 eS8 T dmdecet )
Juidmt S e Lo etV o200l Sad i) Lt v om0l Linivi
(Lupr )t S et jod

(A) 900 (B 960 W 910 () w20

116) 400 mangoes were bought at Bs 1,250 per bundeed and were sold it a paolin ol
Ks 1,000 Find the selling pnice per dozen (in Rupees)

a0 Boalind Do, 100d e 1,250 D SR, 1,000 dedenie oegsld mal S )
o rrdas l,j-:-EJrT,FF;J-:j FATY n,,"'"..l:--'q_ ..:lll:l],.n:..-"lt,.h_:.q'_.”ﬂ:fr:'qu

- e
Tonmy

(A) 150 (B 160 (€} 200 () 150
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Segalive marhing is there, answer carefully
Directions {Questions 127 to 131) : Stady Ih-l' Fullowing pic-disgrams carclully mod
answer Lhe questions given below.
rmd e (S-fer 127 Aol 131) | fod p-Oaveds vism adalde U Jod Dot
R DIy,

R L =RSpTT o Il St S Tt o S Rl NI 11 1 - A Ty
Eercentage Compositon of Human Body
amas dhoos ol s

;l.-l'l".rr':l.u: » r: i |I
pbalhe
'l-‘ '1.'
‘ b
o bt i
Fiy,

pard
S
£ [t
: L] o
o LT
e Il LT e
#

127) In the human body, what part 15 made of neither bones nor skin
Smaiad Mﬂﬂwﬁﬁun}iﬁuﬂm Sudndn :

i I-l"q..-'.i"‘.-'!'n_.lji-.,;;"n.:'. _I..:f"‘l.jl-‘:l

L 3 L
A = i w oo o

128) What percent of the 1otal weaght of human body es equivalent 1o the werght of the
protems in skin in human body?
st abroft s S ot ks odagy duno fad Hou e Son meeeDl SR T

rrﬂ'.,.rulfgm.‘Ji#d#ﬁ:iﬂlfﬂ,.dﬁﬂ -"Jll_t....rl
(A} |6 {By 016 Wy Bos iy 106

129) What 1s the ratio of the disinbuton of protems i the muescles 1o that of the deanibation
of protemns i the boney™
sogoetn Ml amats asusen o8 dlga fag de S0 ot
WL ;n'{n,f._-...--._.-fmrnff.,.aﬁr Sk rs
{A) |18 (i I 2 i) 2 1 i 1% 1
130} To show ihe distnbutson of proteins and other dev elements in the human body, the
ar of the circle should subtend a1 the centre an angle of
ey Sosatn 26d 28 Lunome coldn ARDmOl. AT oo Hudo 59 H08 S

Soon T
Vit gem& Lind e JomB Lnd gt don

(A} 54" By 1% () 108" in) 252
131) What wall be the quantity of water in the body of a person weighting 80 kg? (i kg)
808 rp ol el BA abdor® o Setmeaie Dol dokoos
(WL Ay nyos Sl £ dneSEm
(A} 40 (1) 4% (C1 4 (1) 56

9313 (Set - F) 6
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Directions (Questions 132 to 136) : A wonden cuboid of dimensions 9 x 7 1 5 unil is
painted in the following patiern.
The two apposite faces are panted mored  The other o opposite faces are pamigd
m green The remamang top and bottom Faces are pasnted sn blue
The cuboud 15 cut mto 315 small cubes
Hased on the above mfonmation answer the fullimaong
mt&-’niﬂ?m&lﬂ-ﬁ} umﬁgmﬂﬂ!‘rmﬂ 17T S e dcd, Sod
Bgdom gl Sabodss
Bods Sk BugmerD wbiaduth dntedtn tok wdidd) duimsots ol D tol
ﬁgmm 315 O {uihonm SHnuL0
pa&mmdﬁmm Aog) Sentls SRimegeseliBin),
u}n.ff..{'..t, Al e Irsetas A AL L SF . eI ey
T S PP PN e R e e LR
PR PEN] TN, TSIt of PR 1 Sl ey SR g o B 5 B3

o e A
132) 1ow many cubes have all the three Tices coloured”
-ﬂm%&nﬂdr Supmnnenty ooty Jaaliod daify ¥
(A) 32 e 'y 24 (11 None ofthese e
W ardrdigirpud LA E
LA MWy T T (A
133) How many cubes have no fce codouged”
] A Bmpeio s e Sorl dosseaddll:
(A} 60 (B 105 () 142 D) Noneofthese! Sbeco

o U Y U P _l"l.'tl_f‘r{- el
- I TR T ™ T B o T T TT MY iAY

1) How mamy cubes have two Tces coloed

s Dushmevly dowrly Jelipd deam
&0 (B o142 (0 s 1} None of these /o
?I'.g.nﬂr‘..f.-;..'r__.-'ulinn'.':n..-'rg.
vﬂl‘ljl'r:l.iflﬁl'l ({41 (L T A 14 qb Bl LAl

135} How many cubes have two faces coloured, that oo red and preen”
i Bonalu el torbed® dud Sugioeth Borh Jobola Daauwdy |

IA) 1 (W 32 Oy 2% 1 None olthese  Sfemdp
'l'-__.-Iul"!'_f.-"1--l_||l.‘.,'-||-u-|l'|l-i....-".I
- O TR T T BE A I T

136) How many cubes have one face coloured®

) vt e Bgetd ool Salod G0 7

(A) 71 (1w LA 142 L Nongof these ey
""l'-li'_a!.rﬂ'_f;':q. _,.-l._.!-ll:_...-lrﬁ
STI g an T ST T LAY

T
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Negative marking is there, anvwer carefully

Directions {(.Na. 137 1o 141 ): There is a certain relation belween iwo given terms
on one side of :: and one word s piven an another side of i Find oul the bes
altermative Trom the given Options, having the same relation with this word s the
given pair has.

amdgen (N0, 1V axa 141} @ b odo gipd dﬂﬂalu -ﬁ::l;,ngg
RoDodo ol HML%MMQHM.MWWEM!M
D QS Mt G Dore Dosodo vl Dosodo G Do kg g Dol
o dabdo o Ao Hdngeaed® Hoaund Sdueedo 880l

PO 1 ;#'Jf;jfbihu"ui-;.,.ﬂ.:.u:ﬁﬂi s (g e ia el
£i & tisiel e pbEfBNL i nnl ol sl AU
.L.Jr,-:l;rf:-f.-{..-f,{h?l

e

: b

137 Ocean: Pacilie — Eslansd:™
(A Irelandd (I} Baomen
(C) Netherlands Ifl?r'i.ih'l;lllrmd

138) Wioist Blbow  Anklc ™

m-_r”fl-':mll () lmpers

() ke i el

13) Cells - Tessies Atoms
(A) Elements 3 Flocions

(Er Malecules (13) Organs

140) Car Polish  hoor ?

(A} Wash 1Iﬂ""-5|:n|l1-
i Wipe (1 Clean

141) Elephant @ Flowdah  Horse

{A) Mumgp (1) Saddle
If'nliii Hoof (13 Loange

IMIsa-F) _ 4
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" i is 1) il
Directions (1), Mo, 142 to 146): In each guestion below are given two siatements
fallowed by four conclusions you have to take the given two statements 1o be trod
even i they seem (o be at variance from commanly known facts. Read the conclusions
and then decide which of the piven conclusions logically follows from the two given

stalements, disreparding commuonly known facts.

GmcdSos (D 142 Aol 146 255)  Bod oo D DIFAm By D damen, el Dosdaey

casbnamo P o0 Sok SSoned), Dadu 30y, (60 Dados deeof ogone A0},
ywmwwwmmw{mm

R oty g4omm ag0ed) aaystol

ul.r.-r.-.n,;.lfﬂ.,.lfmjl,:sl_ agl s af-..".':.-r.-ﬂ._-.@ni iq..!lr-,gt_;{ Ha T el '--.'.-'_-'453

LA AL aele S s sue i Fvh e G g

142) Statemends Al agroplangs aic tads
S REaiiis ape cliams

L g sinny

IA] Some acroplancs ae s
(B Some chars sl iraes

1) Al chaurs are trauns

(131 Some chars are acroplancs

AL ﬁ.gb.‘.’..]i.ﬂﬂ!-ﬁll

1 ol
(A) B0 Balmpe df=u
{11 b‘ﬂﬂ#ﬂﬂ
1) o Sl Py

(D) &g fedwo Bagwen

UE-L:E' .I'-l..r'qfrﬂn |“|

,_,_!.'._-:.:hr.,:,.-,f-': (L3

9313 (Set - F) M

-...ELIJL.-"L-"FH*..E-LU’-E

it gl ik
cEvEA Y
-,:I,I:-
._:.,.'-;-;u'.gﬂm.f: (Y
'-F-.-'::"-‘:l.a"!'""f": i
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Negati oz i th ful
143) Statements Some chvhes are marhles
Some marblcs are bags

Conliriaons

(AL Allmarbles are bags

131 Al hags are marhles

(01 No marble s a clth

() Nonc of the above

E-aﬂ#c_-.: 5‘-Eﬁ-?-ﬂﬂuﬁqﬂ-'ﬁb

WG S, ey
Epnciraris

= —_

(A) ) Sy, Soden

(H) o fercioon Agow,

10} 2 dgpmay g 850 meh

1) B s y_-',.-*f-#’i-.u:r:ﬂ-l":. otk

adursr Lk

A =
i

grrbSurd b alurrlrd a
L g D) PN AT

144 Siaements Mo clecton s B
Some expenyve things are fair
Conclusions
1A} Some expensive things are not clechions
(B} No elechion 15 expensine
1) Some electrons are expensive
(0 All expensive thangs are clections
Db ) G ARG S0 Pl
L B iR e Giion dotpoy
Fath el T
(A 39 b e aigsen my
Hy = Flistis ey :
Ei'l ﬁﬁﬁﬁm ﬁ%“mg.m e 7 IS
(D] g méds s e 17 e S bk
:él.‘.-

efmsphl B ad A Dbl ik
pﬁhf'd'-aﬁrlhrﬂ im .F.J'.rn-lﬁﬁuf i

9313 (St - F) M
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145) Siatements All branches are Oowers. =
All Mowers e leaves
Cope Juseons
(A} All branches are leaves
(1) All leaves are branches
(T A Nowers are branches
() Al leaves are Mowers

Gosow: 89 O G

o Waeptues et

R - N,

(A) = B mies
() &5 ot Srage

() = Spapurn 8% 00

(1) g mew aagpasen SJAS R o
i JArY

;:;,rl.'-'

SE T (B) WL - Y

AT E M JE A O

146} Semtements o box is toy.
All tovs sy buildings

Conclusons
(A) Some tovs are nol baildings
(B) Al bunldings are toys
(C} Somie buildings are fovs
(D) Some 1oys ane boxes
Siidapen D i) o St

e o
AT Wg ey g
Eﬂ :%mmt:, e M Brandf o
e Ry AL M
:f—:D
GeAFZ el il 2wl FL A
Sl L FE G EnE ©

9313 (Set - F) A
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Sczalive marking s there, answer carefully
Directions ((LNo. 147 to 151): Study the following infarmation carclully and answer
the questions given below,
Seven bovs A, 1Y U7 PO anad J live in three different banldings Ashaana, Tope-view and
Riudge Fach of them s Mg kites of different calours, 1 red, preen, blue, whae, black,
vellow and pink, not necessanty in that order %ot moge than three are staying in any of
the hanldings £ 15 Aving a pink kite and hives i the same binlding as only J 1c Ashiana
Y s fhving a black kite and does not Iive i Radge bulding 17 does nod live i the smne
banlding as A or P and 15 Mang a vellow colovred ke 13 hives i Radge burlding wth
only one more person and 1 vng a green kite Sone i the top-sicw butlding Mics a
white kite P does not {1y a blue kate
arcies (E 7 Al 151) sfed waldys Airaod eyiyr 200, ded Bfes Adronrilag
Scrbds emeodh: A, DY, U7, 1 1) ooty ) oo dusd Sdk s dobowu: 8l
elotmgs, anigne, fopoty 0 sedodam Sdudh dorbas fo el Sumedl X
S s, oD, Beo, dassD. Sy, Dy Moo Dol B SciEtd peen tmos
domsod Lobioodd D rRGortin fusd bl S fof o DaloSic. (),
Dol Sorl refoton el | & giidod® Do, acido alnlem. Y, Gy corkb
MO0 Srbeitunads Faoal et 0f cRtos? Labocd, U, A do P o patod
gbmrodt Dalodid b Dlogy dofly bk mEm 12, o eastod® Zabd
2468 DSLGN e o dorh mbDemg Srbslipans. amd e, ot Do e

Emers By meDEamy s daban. P oo dorb repoems Grbodabdo.

sErapal cr i st ye e 2 iz (g wigits)
wFerotdne tif Tl Al Lfd e L et ADY.URQ
J.--,—-'f-;_...F,..i.i'.m;:-ui‘-g--u--I-I,f-._Eu.,:..."-.,qaf.-::.&igf,_ﬁ.;.w?.ugu
.:.r-:-.,.:"ij_f...f.l'."'gq.é-.-,i‘"."_'..?u!.'.-._-f,_..:_--,u.{-..-nlu...fi.f;:.F'..J:-J
038 7 DRUP I AR PR O 2 L AP S
-;_.q;-...f_f.iyu.ul"ﬂ::—_.F.r:;-.&:._F'..fm;..*ﬁ,,;ful:.fﬁdnq..&H:A.f’m:.l:..
._;..g':,_{'...f.,,u,-h.fu.,:_.;_m._;‘i._;,g_if.,,;_n.rﬂ.j..g-_if.r‘l.-aiu':
..IEI-'I;,,.E"-E';JJJL.- nl..l"ﬂFm..;.._'}'!Jl;l..ﬁ

147 Wha live an Rudge banlding:™

o st Do Sl 7
(A) DLAP i3y ALE
[]y YA P (D
® e G s ol L S ns
DU i Y.A P C) AP (B DAF (A

9313 (Set - F) 1



www.eenadupratibha.net

"II'I ﬂl”"‘] m.ﬁ'm is [here, pipswer “ﬂﬂlui

148} Who flics the red kie?
acliy ) Dand) widch el Sy 7
{A) A (3}
icy P () None of these | Dfapds
Tl adord Lk e
Lusirar (D) P ) (B A A
14%) What coloured kite 15 J flying?
} & dorts el Depd orliinmnds ?
(A) Blue'beo
() Black'segy
(€} Data in adequate’'sfzon Sdoeods deia
(1) Whate/feusy
LSOV 3 00 P
D) e ) L¥ im il {A)
150} Who is Oying the blue kite?
Ay Dol d) Gamd el e Kliomadn 7
(A) |} () A
iy p (D} [ata am adequate | Soscostio Slsos dc
Tt f'ruﬁ JJ;‘. st
L urivar ) P ) A B) I
151) Who stay in Top-view building”
eals 5P, BUEDoE® D doesdds ¥
A AYE ) Y, LP iy AP iy APRD
~ebrag T, Trag b
APRD (D AP C) Y.LP W) AY.P (A)

9313 {Set - F) 1
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eoati ki i 1) rall
Directions (€. Mo, 152 < 156) : Each question given below consists of 3 statement followed
by twa arguments numbered | and 11 You ke to decibe which of the argument is a
strong argumcnl and which is a weak argument. Wrile the answers as Tollowing:

A IMl only arpument | i3 sirong.

B: M only argument 1 is strong.

C: I either | or 11 is strong.

D: Il neither | mor 11 is strang.

amaSes (D 182 dod 155 28] Bod D8 Daefae e DSGAA ol oeSde |1
& oud by B Bot meaaod H0/00 oofil dor neles sdad® Dgavcd Soo
DO Rospmosns owEhod

A oo ova dmads pofoas (oedd - 1
B Bodd owas dmsds podods (oedd - 10

¢ A don 3003 ondd pofadd (ovdd  Idos g o 1
i memlﬂlﬂ ﬂ{ﬂﬁl « | Sasoday amihE 1)
b S pat et s T i S imrngp S L Eiw Lo 1 1r B9 iaps)
__rr'._._.il:_.__ni'_,.'r?lﬁ_.:_,l |:I-'|{.|_,"'I=|,_|= J,.|'; rlall.f.._-:’l"'"_:..:u'i rl .,';.."?i"l: -""..-'-'.i .:l;.'
b st A
e b Bl A B
kb it
a2 e bl S WA
152} Seatemwnt Should luxury hotels by hanned in Indaa™
ATEWNEILS
I Yeu They are places from where Internatonal Crmnenals Operate
i No Affluent forcign twansts will have no place 1o sty
pddddn ros SSoftD Dot DT BlSooe !
oL a T
I s sososbo Sdusdhan s masod aed s, Sendee G, L
I 2th ogdfonatd BAl Dom ity dodentil Lew duaddl

1
.:..;I..r-.-r' -‘-' :lrra.l_pll redl R
i = 1
—-_.LTi—‘F'III:ru:L-'FrE-:J:'p-l.I -1 r"'
Al rrk Artp o de sS4 o

153} Sestemnicat | Should Faclwonable dresses be hanned m Indea™

I Yes Fashions keep changing and hence consumption of clath imcreases
il Wo. Fashsonable clothes are a persom's self expeession amd therelore s her
fundamscntal mgl

D0 gacadaod® fe oS el caionds Dl

Dadey

[ e ol odddure nddo Do &y Solacdka Dawivioug

I e 3n G068 Endhn dofien 24 28 dlud, 2000 e204 Sone e o Deiius iy,

R P P L

_.|-_|:L|-..|.'...,,-i"..f|,.l|-:;"-l"‘_#'-ﬂr fiJ.h:'Jl-h-li -1 Irhl'

-

PR - E Fod i mim L8
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Scgalive warking i there, pvgw or garclally
154) Statement” Should the politcal parties be banned m Inda™
Argumsnis .
1 Yes Itis necessary 1o teach a lesson 10 the pehticians
W e Iwall bead 1o an end of democracs
Dt endaddodt ovalaidfin tlnoomen
bt
™ 7 melal oot ol rondedo 380
[l mech oobesd Gl 0 @ofo B
Sndlsvgaycud agpry

et Fdasfosepioag -l
el .-l:"'-'-;-'.,"'u.-# -
155} Salement © Should new big mdestnies be vaned i Mombay?

| Yes Iowall create job opportiunitics

I oo Tt will funther add 1o the pollution of the cny
b dto Bl e end Dodlen Sedosooen
wmedeny

| it s 5% radussavei shmo

1 Tl D, A e cane Do Cuoesn

SRR P S

-Lﬂf‘:'jf’ri{::‘}h&-ﬂ"qu} B

-:.'"-'-Ig sxinlifi LAl .l

.H'r

'.|_.F:I|

o

Ky

e

156) Statement. Should all the infrastructural deselopment projects in Tndia be handed

over 1o the private secto”

AEUmELs

I No The pnivale sector entities are not equuipped 1o handle such progects

1 ¥es Such progects are handled by private sector in the developed countries
B0 OBNEEAD B EPNS Sue RER A Daiey Dandes Soril safucen 7

amciens
177 "3 Dowdan dun Sogerds memo! s D leoud wdoe Ao
I oo e Sund daed sonod S Do Gofds 6,200

-k WSl L ._,.-f‘uft:.n.-ﬁ;-:};??d;ﬁ*i

.ia#‘.?}jlru':.:._;““t.u';f{uﬂ.-:‘fdrﬁ,;f N

e &l atioadvaiioa
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Sggative marking is (herg, apswer carcfully
irections (O, So, 157 - 161) ; Find the missing character from the given alicrnatinves

{in the place of 7)

amdses (H 157« 161) Mob codd Hqedt T e dedol? Stand e ool

'rI_{.;E :_._.:J;F-f;_ ,I:T,L_Il,i_fﬂ;.!r.}ﬂ;_:lfr':"f.;:.fu[}.axj Cwns wmisivg)

157
it [E
11 *
(') 12
N e -
I."l-} I: 7 ;..:.l.«\/-:j
i
®
iy 210

164K [’—1

o o)

(Al 5

(A 3 i 4 'y 3

9313 (Sel - F) 36
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Prag— bing js 1) full
Directions {for gquestions 162 - 165} : Read the following informalion,
A B C, D BT and G oane seven plavers They form two teams of iwo players each and one
teain of teee plavers A and 18 canawdt be uy the saine team 13 and € cannot be i the same
team where as 12 and F st B an the same team G and I canpot be i the same team
e (Do 167 Aol 165 SE6Y) © Lol LduePoiuiy eaiane S
AR C.DEF 2omnse U e odorbioh Agmadse aet ey P Bl A, Srbedi
rt liorm Doty A, B e priogyrin el dioet dciit I, 0w ardsgpiioe 3 et Gl gl
E. F oo cngin of dioed gonsts (G Sueat [0 oo 8 85008 dostl
- T T S T SR A L Y L
T T N U T O o P . o . ] [ POV o IR PRI e T S R
T COR B RSP L IR SR S DI IR R
T T B T RSNTR R ST T L SR P T o | LT AT
F62) I . 1) and A form a tcam of three plavers, which of the fallowing ¢an be the

members of one of the other 1enns™

A} Aand E By Gand 3

(C) Fandl (10 Both iB) & (0 ) optwons of the above

C, 1 st A e Soorpef® i Dot 3, Ao et 23 fepmnction Soviens B bt

& OB DD e Gkt 7

(A A woois b B Gavasan B3

() E sweata 1 3 @i sueans (1) dods Ssimoaeen

ot 58 o A 1a o Fends (€ st Sk S S I0E L AL e, D

Coaatiag amrdes g1 R B P S [ EEELEL T Ea N

163) 1T, E and F fermn a toam of thice members, whch of the Tollowing: cannof be the
fwa temms of two members cach™®
I3, F. gonactio F e sty Ao laon SH5A, Bt 5 it elfons: ragiels fepmcionn
rier ey el ¥
i P T File £ et b e e I L e

(Ad AC GD (A G
() Al €D (13 Woth the (A and (H) options

164} I, F and G form o seam of three niembees, then hos many ways can the remanming
pwar feams of two plavers be formed™
. F susat (i s s me e e dien 584, 00 demenon B Dglen fe Dot
By ellfiaen DS ¥
i T Il B A E o Lk R TS P TP TN P
1Ay 2 i) 4 iy i im0

165) IF B and A are got an the same team, then aliogether i how many ways can ihe
teama of two members be formd”
13 2oteto A e o e Atd, Jono g drserm oo gl e e Dedrlenciy?
Tof 2B e P pWlanugivnie & AE gl S Ex pud P Y
(A 4 iy 7 iy % im s
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Megative markwg is there, anvwer carelully
Directions (for Questions 166 1o 170} The Tollowang table gives the prends i laeagn
trade for the vears 1986-87 10 199192 Trade balance 15 defmed as the excess of exports
OWEE AP0
Ao (Egos 166 Beol 1o R QA Ll SOA aunie, Sttty 1200 1 Rl ey o
et Pt o G5 e et e Seiaonon o] S Gh e Deud o
HH"JIWIH':E [ EFT 0 i 8 PR, feapery - 8 _.-;','F‘J__?JJ. T TE 1= [T Ibh Sy
el i wbormia rarple sl - FRTTV IS o
et 8 | .11‘_.:_,'."1-"':".:-’?...1!:..
Trends e Totcign Trade
T AT T
[ 15T i 1*RRL-M2 ]

Year Impirts ey Fapuats | arbdiiony
:.;..;.:-.u:.‘d..r i s 06 grone ] (R croae)

Ju [en Gh et ) (At 4% AmaienlA)

it las aral g
£l dy nuiadd Gk & Vata

| iR 7 A TLRT) [ 2
[RT-RH 150 iaih 1
| HE-2% MM - Mo
[EET AL 1752 JUl S
19909 ns 5 S50
R B 5104 1T &

166) The trade balance wis losscst Lie s vea
ElE 2o pad Salieti e Sl
w00 b W 1 L S "-ﬁﬁ”u}v‘h;u"jfjal_-ur[r-:_f
(A} 19°Ri-9] (14 19R7-88 (L) 19R01 (13 19637
16T) For whach vear was the percentage aniual change m made halance highest?
5 o St o W ey b i s e oo A
b adiibic gt Wl RO (SIPEH P |
(A) 1786-87 i) 10| (0 1894 (1 L
168) When was the irade balance, as percemage of expoits the haghest®
ez 68 o e ol anito O Doahont eaomee o
'lrt.i".‘..-.-l._.ll--.,_.ff..i'_}ﬂ:.:-v,-_....,.-‘ Famdal g Lot el

(A 19904 (151 |4R%-SH) () 19HG.8T (13 12
I“I l-Tl “hil:ll. 3‘:1 WA IIlL’ I":"?':““!'-'r' _||||||_1;|_| AT Eane “[ |.:'||_'|,:II1||"| [NE[RI s |.1I|'I|I |I'|i“ ial
impeiets? .

S RodAseRt arpfum o Zorai, ELIoAM el Soedls sk o] it e 7
Fitlen seWetal iy £ saals Ladslv
(AY 00| (3 -0 (1 1] 12y 1687
170) When was the rade balance, as a percent ol exports, e lowest?
axbaoadt 5 pand nlof, @ st e e Gof T
fial ani S sk e ity Loe d ik
(A} 1991492 (T R AR () |9R0.RT (13 15|
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Directions (Questions 171 o 175) 1 The Follow mg guestions ane based on the imfomaation
given below v
[n a certun localiy, 4% = of the residents read the Indian Expacss; 33" o scad The Hindw anid
43 read the Times of Incha 107 o read all the three: Also 15% read both The Indian xpress
and The Hindu, 16%s read both The Hindu and The Tumes of India and 1 7™ read both The
Inchan Express and The Tunes of India 64 resadents do not read any news paper
S (Sgeo 176 ool 180) - fud andd D fod 00 Emoedo b agehd dieau
e Seortod® 443 000 0 aoSaid SN, 14 S O Ieoding St 47 S O (i ol
ol GO L0 Lol SmSoelt Srbgimeds 193 Sl Bulatd oA .
LGR Bo0D Dwasn, Bl SohaInD, 178 Sooh 3 i, w5 modate
A w GESou dwen ity Sl
fiF gopSrare il L B IUID N tapa)
ek J"-.-‘Fl,-""l'r')ht]ﬂ.-ldlirrl_.ll'l'ldu‘lqufﬁ{lq LY L ST SV
J-.-_f..'l.‘.'f'.;,._' .l-r.....a|u.|-‘;.ui..-|'ir:|'li-.!:|'.|_._:-..'_.f_.-p[,;_j-,h,..‘_?.|j.-|("__ﬁ_l_52_ 2
..u',,,..':'.f;'i.: i sier dipiw ,.p'lr..lr.._.ilfl_,."'r!,.r”,:. i SO T B VT
ol S e it o gl ault Lo S T
171) How many residents were surveyed?
08 SO0 POLes 18, Busds? R TR, PR
(A) 400 [ 300 (Y 200 (I 1

172 What 15 the ratw of the numiber of residents who read “The Indian Fxpress’ wo that
of those who read only The Times of India®

ol G Sedlaod, 5 ol solaie foeds Sodoeed DO ol
el EWst sl e S A RS Tt A o b g e
(A} 10 6 (% 115 () 11 10 (D 44 43
173) How many residents read cxactly one news paper”

kG D Do el 2l soeon BT Scladanacty

-

LI U] YR R
(A} 204 By 323 () 154 () 84

174} Hovw many residents read exactly Pwo newspapers”

WS Al Setuorm Sods o e SSadnmed 7
LTF A S0V TTO - OV PP 8

(Ah 1B (18 64 (Cy 72 i 108

L75) What 15 percentage of the resudents who read only "The Hindu™ to those who read
only “The Times of India™*
Bl 8 Rolnie S dilined® Inocis fostds S oee enio oo T B
Tu'-:-l?.'-ti'H"'l-F"“'-j'.."'-l'T“:'.—frJll‘i'IIHLFF.-&’E{!F‘EE-
(A) P, i) 3re it 6P iy 70

9313 (et - F) 9
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78} Some of the Crcket plasers are tenmis players, some tenmis plasers we skey
plavers no encket player s a hockey plaver Which of the [ollkswing diagrams
correcthy represcns the abose stancnts
i 2 e e O Aapmsien W0 A Savmcian Dol mioree, 4 Aot
avmd fage A Aopmcbdmdny oo meded D Do P 67 Db B
A izt ! ) ) .

T IFE A g W L LAV E R R g iF S L v A

re S s Sop s fa el i e UG d Ny

O

:t'y@ (m @

177) Supposc the first and the secomd letters of the Enghish alphabet changed places, also
the third and the fourth, the filth and the sixth, and soon. In the mew alphiabet serses
that forned, whach letter would be the 14* from left and 6™ foom rphe

ool e Quadied, B e, ARG, R misaen R, I g, mGuoe

) e St @ Do DA eiARee Samn Al @ Tam mgta At B4

Aol 3 mgdo DY l'J H
JJJ'H.-H:..L{* J.ﬁllf'.t.f;fl.w I R = ey _..-':.I.-'11.-"|_'E' .J.-*l:n‘.‘hj{.""

ek fod s Ut of erlas f L ar S8 O e b it
(A} LU (o, v ) MV o) 0 o B

178) In the followmng table some characters are piven These charactens Tollow a cornam
trend, row-wise or column-wise Find out the value i plage of *

Mo St §9 ot e cadaoian S0 DEGRGNS SHEAD D sl st
sl oo e Dot Gouin Daad saidod

Lius diro g b LFtafV2 L s s hlidrnd il
S e salnl T

!

N

i
| 28 201

=
G

e — —

{A) LS (RLIIY (1w (I 7
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X Kine s 11 efilly
179) Armange the following words in the sequence o wihich they occur in the dictionan
and then choose the comect seguences

fod connh Do S0 Slockule 3H00m sou SRole, o 2 saudsis
Ve irnd i A S BEI B i E e WL PP LR L Ly N
I Baumbustious
2 Ammanan 4
3 Bemow
4,  #Hwmunate
>

Homple
T2, 1,43, 8 m) 24,315 (f) 2063.4% () 241135

Directions (Questions 180 to 182) ¢ In cach one of the followmg problems a square
transparent sheet with a pattern is given Fipure out amonigst the four alicrnaiives as 1o
how the pattern would appear when the transparent sheet 15 folded a1 the dotied hine.

Homtno (Sg00 100 B0l 102) - oo andd SOOPFE L8 SHbceman Moodd slad,
Ao titogionit st plon SHOSemRcy e Do iR RO 2ol O G 60 SO

et B ot Ddmpe e Aol rboodoed
SPue b et st d P S rditctir L il (mr miapy)
s LT F Prl e dtiigS o L)

180

|

i I

r

I

= p————.

v_,mT.:;' N (B}

—— )

() =3 TH
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Neeative marking is there, answer carclully
141) i
S
|

. ;o
(A) i ‘ tiﬂ/ I | l

b =

¥ B b ™ |

- ] -l
182) —El—n
L)
ssl?

“ [2T] o ]
. 5 | |
{ﬂ/{"_“

1
2 __._|r SR, -,

m e 1

Directions {Questions 183 1o 184) ¢ You are given a combination of alphabets followed
by four altermatives A, B, C and D. Choose the alicmative which most closely resembles
the mirror-umage of the grven combwnation

Rwtes (Do 163 Aod 184) | fod 87 egoeedto ady g sonndn A, 13, O feoada 1)
e gdnatmed asydo sohod 508 egme A0S Sdo SRcono 4 DanAnning

ol Bt enfahd e LDuma, B O 1B e sl dor (g maiciis)
183) B vE I ¥ P A LY P
A} 3FTADITIVA (i} EVITCEFFE
(Cy AVITOAFIA ‘ﬂﬁ/ﬂmﬂﬂﬂﬂ
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*u
154) TNEORMRT IOMS .
(A} THIOAMATIONS ru.r’”?'_:‘f:{_{tr__ A
W 2 ACEIERIA O AL (D) TAEOKMALIONZ

Directions (Questions 185 to 187) : Each of the following gueshons comsasts of two
sets of figures Figures 1, 2, 3 and 4 constitute the problem set wihale figures A, B, C and
[} constitule the answer set There 14 a define relationahip between figures | and 2
Establish a samlar relationship between figures 3 and 4 by seleching 2 surtable figure
from the Answer set in the place ol?

Amca (Sde0 LS A0od 1AT) Mu@ygﬁmmmm .43
Buoan s e Siumiadan. A, 13, U, 1) St Hiogee Sfoeng Dby | ot 2ot
el DO Somodko Gof Bdy I funatu 4o fud, 8d Somody dodiine Sluscacen Liuming
Aol e Hdiond Stosonad T At wichifol

-..a'ulﬂl.glirlnlI.i-]-.l.,lﬂl..uj'.t’.'{. s el JE S Ny g Ol s talla)
L SE S F AL e i S JOIRDAA, B CJOLE
Lt LIS Pl TS r

185)

r i
™ ® 6]

Ve g
{EJ':@ 0 |
1 ! '. j

9313 et - F) 4
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" {1

1 2 3 %

(A "@ [ C
_ !
ﬁ,{ E:, ) _.E:F_I:

" @)

i 1

@ "’
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Directions : (Questions 188 1o 190) : LEaclr of the following qucstions consisis of five
fMgures marked 1, 2, 3. 4 and 5 called the problem figures followed by Tour other ligmes
marked A, 18, C and D called the Answer figares Select a figore from amongst the Answey
Frgures whach will comtinue the same senes as estabhished by the five problein Figeres

Ao {Brgns 18 Mo 1907 Sud oudis Dl 5 Daea 1.3 3, & Sy & S D e,

ol amerts A, B, O, 1) 208 Sviagants Lo audiSo s8fof) SeBlodff Seserls (%elcainne
ﬁﬁ*ﬂm@m@mm 1 Th
A AL L Lo e 28 L oG LA L L e C1908 188 sl
LSomw Pl sl Lwoiaagd & maa node

G eSSl T E St e
188) O X o ¥ [
a2 o X sl f
K Fiat i El ¥
1 2 3 4 5
w | g -.Ip’/- Thi
| MY o
—— i
iy o 1 0 ’
- - S
189) " F = 7] g 8 C C a
. oy | X gc |s &
- X O x
i 2 3 4 ]
(A7 x i - x
{A) € X (h) (€ X
§0 '! 30 a
T 1 re-Em
Lo T P i e o
] D X E X o

9313 {Sei - F) 4
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190} [=] ﬂﬂ AI
|
3

I ()

{A)

o L ]
@ | ° (0) _i‘

191} A resalt of 3 survey of 1000 persons with respeet 1o tierr ko ledge of Bk (1),
Fnglish (E) and Sansknt (5) is given below
Eron (H), soli (F ) ooty Sor, 805 tade S0ap f 1000 8000 B Sd, Fatipds
058 phosoo Aot dtue® s sofos
.{.-,a"r.é":,..:..?._tmnggf'l.f‘_.,.rir-.iuamnf_lnz.,r:mf e C A 4
¥

F] e r
i
dé
. , &
- @ Falial ﬁi‘r - 3
What 15 the ratio of those who know all the three languages to those who do not
know Sanskon?
T

mmmanﬂ,mmmhmmmmn&gm o

M T ,-.lr,;.;..rr’" AU e S ufiJe

5 ! & I
) 5 3 ) 5 M 7
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i bing is ful
192) If FULFXHW 13 the code for ‘CRICKET", then "EULGH" 13 the code for which
wisd? "
o 1% K Lo
FLLFSNHW sdsg CRICKET & 838 oo, EULGH sdo A2 §857
i f s -
Ly WE Lu) BacH g 2AiL £ orickers UL

(A) PRIDE o BLADE (Y BLIND (D) BRIDE

193)If 'IEHH;’L’ can be wnitten as 52102362, how can F{.}wh writien?
36—
ZEBRA © 52102362 ne oay, COBRAD S0G0rm oealindi?
1L LA TooBRAT e stionsa/ ZERRA S

(AL ATTO2302 (B} 6320562 (C) 6230362 (1) 6023362

1?4? SYSTEM 15 coded as SYSMET and XEAREKR as AFNRER. then FRACTION
will be coded as

AYSTEM & SYSMEToe NEARER & AENRER, sl FRACTION o 2ocorm 595
oy ? =)

t L 53l LAV TFRACTIONG 5 L /3 AENKER NEARER 1 SYSMET/SYSTEM!
(A) FRACNOIT () NOITFRAC (O] CARFTION (D) CARFNOM

y’gl I LIP = 198 and ZAP = 246, then how will you code VIP?
ZIP = 198 sooatn ZAP - 246 eaud VIP b Bodor 518 Jasscy?

t LG LA IVIP nZAP = 256,021 = 198}
(A) 222 (B) #&8 Wy 174 (ny 990
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: N
Dhirections (Questions 196 to 200) : Sudy the graph and answer the gquestions given
below.,
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196) Which month showed the highest absolute difference m the Consumer Price Index
(CPI) over the previous month?
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197) Which month showed the highest percentage difference in L'h-: CPEover the previous

month?
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198) The dilference i the number of months in which there was an increase i the U7l

and the number of months in which there was a decrease was
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199) For how many months was the CPl greater than 3507
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200) o how many months was there a decrease i the CPL?
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